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E = hv (3.1)
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=&-
6.625 x lo-3%l~-5pbl~

= PI

d 2(9.11  x 10-3’~bATl%J)  (1OeV) (1.602 x 10-‘9j8/eV)

= 3.9 x lO“O  bwl3

= 3.9.A
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1.3922 A

= 2sin (14O17’26”)

1.3922
= 2(0.2468)

= 2.820 A

lattice spacing ?J&bY’k~IJ  2.820 A

2~7%  1-=_
M d3
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58.454 f6J/biJ~
= 2(2.163  n%J/%%J!)  (2.830x 10.%U.)’
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1-mv’  = eV2

d--2 e Vv = m

h=-
mv

&& 1 = 6 62 x 1 O-34  .I - set
[2(9.108x 10-3%g)  (1.6 x 10-‘gcoul)  (V) ]“2

= d-yx10-“mJ.
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44 ev 48 eV 5 4 eV 64 eV 68 eV
0” A = 1.85 A 0” 1 = 1.77 A 0” A = 1.67 A A = 1.53 A 0” A = 1.49 A

iiFirannm4annsrvw 1

II
/

‘50090.  Ih 90”  Iv 90”  b ~90”  IL,.

lill
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= f sin @

66~~6-1  Y = 2.15  x 10-~m.  6663:  @ = 500  wIpaeamisGi9~u  li

I = 2.15 x lo-“sin50”

= 1.65 x IO-*  %%J.

w% I = 1.65 k
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A= d-+
= c-150 A

54
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(3.10)

(3.11)

(3.12)

RelY(x, O)]  =  - e
c & -x’/4a’  cos  k  x

a 0 (3.13)

Im [Wx,  WI  = aec J;;  -x’/d  sin k  x
0 (3.14)
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= A sin (kx -wt)  + A sin [(k + Ak)x -(a  + A@]

= 2Acos x-Ft ) sin [( k+$)x-  (co+?) t ]

Y(x,  t) = 2A cos Ak(-,x-+t)  sin (kx-ot)

= A, sin (kx -at) (3.17)

t
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Aa/2  Aw
Vg=-=--Ak/2 Ak

(3.18)

h h21I=
p =Ii=  Tn.11 hk

dE=+L$.c
dp dp dk

hiii
dw dE

“i  =dk=dp

= hw

dk dw-=_
dp dk

(3.19)

2Ez = 2pc2

dE PC2-=-
dp  E

mvc’
=,,2
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(“1

Y(r,O)

(b)

/Y(r.O)
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AlJtll3 (3.12) fflrJlXlMl~i ni~~lril~U~~~J”?l~~~lJ~~J  A(k) MSJlhSlhl&l  k &

filllOJ  A(k) t3GIF)ll-l C ?Jll%-4Ce“‘2H%d%JlfU  0.6 L?ilVflJfil~J~WIOJ)"TJT%U  A(k) q

f,ll 3.15

C e
- a’0  - rd’ = Cc-l/2

(3.20)

v&l x  =  Aa

&A4fh.mw6wm  Y(X, 0) Ro

A x  =  fia

Lhlll  p = hktdi4  Ap = hAk  LLYlUdlFNbbaunl5~lJ~U  II:%?

Ax.Ap  = h

(3.22)

(3.23)
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3
6.62~1O-“~J-s

272  x 1 x lo-“rn

2 1.054x 10mM  kg m/s

2 1.054 x 10-24
P 17.076~10‘”
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A E  =  -h’k,k
m

(3.26)
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Ax mAx

At = 7 = hko
(3.27)
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dw dE
“g==--=--=”dk dp
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